
 

Page 1 of 2  © Agriculture and Horticulture Development Board 2024. All rights reserved.  
 
 

AHDB Dairy 
Middlemarch Business Park 
Siskin Parkway East 

Coventry 

CV3 4PE 

T 
E 
W 

  

024 7 669 2051 
dairy.breeding.evaluations@ahdb.org.uk 
dairy.ahdb.org.uk 

@AHDB_Dairy 
 
 

 

Montbeliarde Fitness conversions 

December 2024 

When to use these formulas 

These conversions should only be used for converting cow evaluations and bulls which do not have an Interbull 

evaluation. Please check with AHDB Dairy if  in doubt.  

The formulae provide a guide only to the expected evaluations of  the relevant bull or cow in the UK.  

 

How to convert a foreign proof using figures in the table below 

      Approximate UK PTA = a + (b * Foreign proof) 

 

 

How to adjust the converted reliability 

To take into account the loss of  accuracy when converting a foreign proof  into a UK equivalent, Interbull 
guidelines recommend that the foreign reliabilities should be adjusted by the squared correlations between the 

foreign and UK genetic evaluations. 

Somatic Cell Count (SCC) 
The foreign SCC reliability must therefore be multiplied by 0.90 (i.e.  UK reliability = 0.90 * Foreign reliability) 

                             a                        b 

GBR  =      83.28  +     -0.885  *  CHE 

GBR  =      78.64  +     -0.831  *  DEA 

GBR  =       -1.8  +     -9.285  *  FRM 

GBR  =      96.73  +     -0.945  *  HRV 

GBR  =     -59.54  +      0.587  *  HUN 

GBR  =      70.34  +     -0.758  *  ITA 

GBR  =     250.41  +      -2.57  *  NLD 

GBR  =     101.21  +      -1.01  *  SVN 

GBR  =    -148.34  +       48.1  *  USA 

Mastitis 
The foreign Mastitis reliability must therefore be multiplied by 0.75 (i.e.  UK reliability = 0.75 * Foreign 

reliability) 

                             a                        b 

GBR  =      21.52  +     -0.216  *  CHE 

GBR  =      14.85  +     -0.151  *  DEA 

GBR  =       0.61  +     -1.705  *  FRM 

GBR  =      19.74  +     -0.187  *  HRV 
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GBR  =     -11.69  +      0.122  *  HUN 

GBR  =      13.76  +     -0.142  *  ITA 

GBR  =      47.44  +     -0.468  *  NLD 

GBR  =      20.96  +     -0.202  *  SVN 

GBR  =     -29.57  +      9.762  *  USA 

Lifespan (LS) 
The foreign LS reliability must therefore be multiplied by 0.70 (i.e.  UK reliability = 0.70 * Foreign reliability) 

                             a                        b 

GBR  =  (    0.06  +       0.22  *  FRM  ) * 305 

GBR  =  (    0.25  +      0.001  *  NLD  ) * 305 

GBR  =  (   -0.91  +      0.009  *  SVN  ) * 305 

GBR  =  (   -0.07  +      0.108  *  USA  ) * 305 


